Quiz #3 (CSE 4190.313)

Wednesday, May 12, 2010
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1. (10 points) B is a 3 x 3 matrix with three eigenvalues 0, 1,2. This information is enough
to find three of these:

(a) the rank of B, =X
(b) the determinant of BB, =0

)
(c) the eigenvalues of BT B, and NO"[’ 84/)0(,(3«[/, WWA‘G&)\’)
)

(d) the determinant of (B + )", = [/6

@ By= 0-%, , B~ %z, B¥X=2%s
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(&) B may be non—symmetrTc .
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2. (10 points) What is the limit as k¥ — oo of
0.4 0.3 a
0.6 0.7 b
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3. (10 points)

(a) (5 points) What matrix M changes the basis V; = (1,1),V2 = (1,4) to the basis
Vi = (2, 5),V2 = (1,4)?

(b) (5 points) For the same two bases, express the vector (3,9) as a combination ¢;V; +

c2Vs and also as dyvy + dave. Check numerically that M connects ¢ = (01,02)T to
d= (dl,dQ)TI Mc =d.
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